County of Monmouth REQUEST FOR BID

RFB must be received no later than:

---- This Is Not An Order -----



August 25, 2021 10:30AM

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

Delivery Date:	1/1/2022 - 12/31/2022			
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	OUNDS (ON-CALL)			
1 3' X 5' OU	TDOOR UNITED STATES FLAG, NYLON	5 EACH	16.74	8370
Packagi MFG/Bra Product Variance	and: Flaczow &		<u> </u>	
2 4' X 6' OU	TDOOR UNITED STATES FLAG, NYLON	15 EACH	22.74	341.10
Packagi MFG/Br Product Variance	and: Flag Zon &			
3 5' X 8' OU	TDOOR UNITED STATES FLAG, NYLON	35 EACH	35.74	1250,00
Packagi MFG/Br Product Varianc	and: Flactone		•	
4 3' X 5' OU	TDOOR NEW JERSEY FLAG, NYLON	4 EACH	18.74	74-96
Packagi MFG/Br Product Varianc	and: CDE/L	· · · · · · · · · · · · · · · · · · ·		
5 4' X 6' OU	TDOOR NEW JERSEY FLAG, NYLON	18 EACH	37.74	679.37

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: EA			
	MFG/Brand: Placeone	**************		
	Product No: 2292091			
	Variances, if any:	 -		
6	5' X 8' OUTDOOR NEW JERSEY FLAG, NYLON	4 EACH	58.74	234.90
	ø iQ.		<i>50 a</i>	201-10
	Packaging: 7/1			
	MFG/Brand: Placzone	<u> </u>		
	Product No: 229 2131			
	Variances, if any:			
7	3' X 5' OUTDOOR MONMOUTH COUNTY, NEW JERSE	Y 4 EACH		
	FLAG, NYLON		68.74	101
			60.	274.96
	COUNTY SEAL WILL BE PROVIDED IN VECTOR ART			·
	Fackaging.	· · · · · · · · · · · · · · · · · · ·	,	
	Wil Orbitalia.	 		3
	Productino.		•	
	Variances, if any:			
8	4' X 6' OUTDOOR MONMOUTH COUNTY, NEW JERSEY	Y 40 EACH	- 16	9
	FLAG, NYLON, SINGLE-SIDE REVERSE		12.74	1909.6C
			, ,	201.00
	COUNTY SEAL WILL BE PROVIDED IN VECTOR ART			<u> </u>
	Packaging: 468 EA			
	MFG/Brand: Flaczone		•	
	Product No: Custom			
	Variances, if any: Min or Der 3			
9	5' X 8' OUTDOOR MONMOUTH COUNTY, NEW JERS	EY 15 EACH	- 211	
_	FLAG, NYLON		137.74	2066.10
		1		7001
	COUNTY SEAL WILL BE PROVIDED IN VECTOR ART		<u> </u>	<u></u>
	Packaging: EA		•	
	MFG/Brand: PlacZone			
	Product No:	······································		•
	Variances, if any:	_ 		
10	3' X 5' OUTDOOR POW FLAG, NYLON	10 EACH	111	1 1/3
	,	•	26.74	267.40
			1 ~	•

County of Monmouth REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:		
11	4' X 6' OUTDOOR POW FLAG, NYLON	10 EACH	35.74 357.40
	Packaging: MFG/Brand: Product No: Variances, if any:		
12	5' X 8' OUTDOOR POW FLAG, NYLON	5 EACH	60-35 301-75
	Packaging: MFG/Brand: Product No: Variances, if any:		
13	4' X 6' INDOOR UNITED STATES FLAG, NYLON	12 EACH	12.74 872-88
	Packaging: EA MFG/Brand: FLACONE Product No: 1002093 Variances, if any:		
14	3' X 5' INDOOR UNITED STATES FLAG, NYLON, EMBROIDERED STARS, FLANNEL LINED POLE HEMMING WITH GOLD FRINGE, VELCRO TAB Packaging: MFG/Brand: PCAZONC	5 EACH	47.74 238.7
	Product No: 1002053 Variances, if any:		
15	4' X 6' INDOOR NEW JERSEY FLAG, NYLON	10 EACH	62.74 627.40

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
16	3' X 5' INDOOR NEW JERSEY FLAG, NYLON	10 EACH	49.74	497.4
	Packaging: MFG/Brand: Product No: Variances, if any:		<u> </u>	μ
17	4' X 6' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON COUNTY SEAL WILL BE PROVIDED IN VECTOR ART Packaging: MFG/Brand: Product No: Variances, if any:	4 EACH	116.74	466.96 # \$6
18	3' X 5' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON, WITH POLE HEM, TABS AND GOLD FRINGE TRIM COUNTY SEAL WILL BE PROVIDED IN VECTOR ART Packaging: MFG/Brand: Product No: Variances, if any:	16 EACH	99.74	1595.84
19	4' X 6' INDOOR MODIFIED NYLON POW MIA FLAG, DOUBLE EMBLEM, POLE HEM, TABS AND WHITE FRINGE Packaging: MFG/Brand: Product No: Variances, if any:	1 EACH	60.74	60.74
20	4' X 6' OUTDOOR KILLED IN ACTION (KIA) FLAG, NYLON BACKGROUND COLOR - RED, EMBLEM AND LETTERING COLOR - BLACK AMERICA REMEMBERS	1 EACH	59.74	59.74

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-13-2022

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

TEM#	DESCRIPTIO	ON	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
· ·	Packaging: MFG/Brand: Product No: Variances, if any:	v e	- - - -		
21	3' X 5' OUTDOOR HONOR AND REM NYLON	MEMBER FLAG,	1 EACH	38.74	38,74
	Packaging: E/A MFG/Brand: FLuci Product No: Variances, if any:	Zen e	- -· 		
22	4' X 6' INDOOR NYLON ARMY FLAG TABS AND FRINGE	WITH POLE HEM,	1 EACH	67.74	67.74
	Packaging: MFG/Brand: Product No: Variances, if any:	ne IZNUL ARmy	 		
23	4' X 6' INDOOR NYLON NAVY FLAG TABS AND FRINGE	WITH POLE HEM,	1 EACH	67.14	67.74
	Packaging: MFG/Brand: Product No: Variances, if any:	Ne RN46 NAUY	 	<u> </u>	
24	4' X 6' INDOOR NYLON AIR FORCE HEM, TABS AND FRINGE	FLAG WITH POLE	1 EACH	67.74	67:14
	Packaging: EN MFG/Brand: FLOCZOW Product No: CAN Variances, if any:	e Subdirfue			
25	4' X 6' INDOOR NYLON MARINE FL TABS AND FRINGE	AG WITH POLE HEM,	1 EACH	67.74	le 7.74

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-13-2022

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

TEM#		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	EA FLAÇZON & CANHO Marine			
26	4' X 6' INDOOR NYLO POLE HEM, TABS AN	ON COAST GUARD FLAG WITH ND FRINGE	1 EACH	67.74	67.74
	Packaging: MFG/Brand: Product No: Variances, if any:	FLUE ZONE O CRN46 COAST	- - -		
27	20" X 8" NYLON PUL WHITE STRIPES	LDOWN, 50 STARS WITH RED AND	10 EACH	21.74	217.40
	Packaging: MFG/Brand: Product No: Variances, if any:	EA FlacZove 8771122008	- - ·	· · ·	•
28	3' X 6' NYLON FAN E	BUNTING WITHOUT STARS	10 EACH	27-74	277-40
	Packaging: MFG/Brand: Product No: Variances, if any:	EN Flog Zone 7612061	- - -	L	
29	4' X 8' NYLON FAN E	BUNTING WITHOUT STARS	10 EACH	41.74	411.40
	Packaging: MFG/Brand: Product No: Variances, if any:	EA FlagZone 076122102			
30	18' X 36" SEWN STF FAN, POLY-COTTOI	RIPES APPLIQUED STARS PLEATED N FAN BUNTING	20 EACH	12.74	254.80

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

ITEM#		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
31	ANNIN (#697-461) FLOOR STANDS, LIBERTY, GOLD FINISH	10 EACH	29.74	291.40
	Packaging: MFG/Brand: Product No: Variances, if any:			
32	SPEAR FLAG TOP, BRASS COLOR	10 EACH	12-74	127.40
	Packaging: MFG/Brand: Product No: Variances, if any:		L	
33	EAGLE FLAG TOP, BRASS COLOR	30 EACH	14.74	442,20
	Packaging: MFG/Brand: Product No: Variances, if any:	·		
34	BRASS SWIVEL SNAP HOOK	30 EACH	4.74	14220
	Packaging: EA MFG/Brand: Placton E Product No: 8800010 Variances, if any: niw onder 10			
35	CHROME SWIVEL SNAP HOOK	30 EACH	6-80	204.00

County of Monmouth REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-13-2022

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

EM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: EIA MFG/Brand: FLAGZow L Product No: MIN OF DEF ID Variances, if any: MIN OF DEF ID			
36	FLAG POLE, 9 FT. LONG, 1-1/4" DIAMETER, DARK OAK, 2 PIECE BRASS COUPLING FOR 4' X 6' INDOOR FLAG	, 10 EACH	47.74	477-40
	Packaging: EIA MFG/Brand: Place Zen e Product No: 5610461 Variances, if any:			
37	FLAG SPREADER, FOR INDOOR FLAG	25 EACH	19,74	197-40
	Packaging: MFG/Brand: Product No: Variances, if any:			
38	EASYKLIP #25202 MINI CLIP 150 LB. CAPACITY 25 PER PACKAGE	10 PKG(S)	56.74	567,40
,	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·		•
ETE	RAN'S INTERMENT (TO BE DELIVERED IN ONE SHIPME	NT PER ITEM SPECIFICATION)		
,		·		
	•			
				İ

County of Monmouth REQUEST FOR BID

---- This Is Not An Order ---



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
39	AMERICAN FLAG - 12" X 18" U.S. FLAG ON 3/8" STAFF:	44,000 EACH	,78	34,3200
	(50) STAR UNITED STATES COTTON FLAG NOT LESS	•		ĺ
	THAN 12" X 18" FINISHED SIZE ON 32 " OVERALL			
	STAFF		1	
	STAFF TO BE NO LESS THAN 3/8 " THICK.			
	PRINTED ON SOFT COTTON BUNTING, ALL EDGES FINISHED.	•		
	COLORS MUST BE FAST TO SUN AND RAIN.			
•	FLAG TO BE STAPLED-TACKED TO STAFF ON THREE		j	
	PLACES.			
	THREAD OF COTTON TO BE AT LEAST 112 PER SQ.			}
•	INCH.			
	DÓWÉL AND GOLD FINIAL.		*	ļ
	STAFF IS TO BE UNPAINTED WOOD ONLY.			
	FOR THIS ITEM ONLY, ORDER WILL BE MADE IN ONE			
	LUMP SUM AND MUST BE DELIVERED BY: MARCH 9,		ľ	
	2022			
	TO COLUMN CAMERIC DECLUDED FOR THE ITEM		x.	
	PRODUCT SAMPLE REQUIRED FOR THIS ITEM Packaging: Per Gross (144)		L	<u></u>
	deraging.	_		
	WIFG/bland.	_		
	Product No: 124,8 8	-		
	Variances, if any:			
			51,581.	1.5
		TOTAL:	01,301.	60

****SEE ATTACHED ARTWORK OF THE MONMOUTH COUNTY SEAL

^{****}GROUP #1 ITEMS ARE ON-CALL FOR JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 - PRODUCT SAMPLES ARE NOT REQUIRED FOR THIS GROUP

^{****}GROUP #2 ITEM IS TO BE DELIVERED AS A LUMP SUM NO LATER THAN MARCH 9, 2022 - PRODUCT SAMPLE FLAG IS REQUIRED FOR THIS GROUP ONLY